Procento – kolik procent je …..

 Vypočtěte kolik % je 30m z 3 000m.

1. způsob
	základ
Víme, že základ je vždy 100%
Kolik % je  ………30m z 3000m         


 100% …………. 3000 m                                 
     x% …………...   30 m         PÚ
------------------------------------------------
            x : 100 = 30 : 3000
              3000 . x = 100 . 30
                 3000x = 3000 /: 3000
                         x = 1%
nebo
2. způsob

100% ……………. 3000m
     1% …………… 3000m : 100 = 30 m
 30m : 30 = 1%


Úkol na procvičení.

Kolik procent je: 
a) 2 kg z 8 kg = 
b) 4 m z 500 m =
c) 12 l z 600 l =
d) 62 km ze 40 km =
e) 1470 Kč ze 490 Kč =
f) [bookmark: _GoBack]42Kč z 8 400Kč = 



